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% B | B %+ % BERTEFEHNI TR AR L THEHE | % /| o=
HPE PP
¢ 100 ¢ 50
EliEmr T As, t=15cmLL 805.80 + 9.00 m 810 814.80
SRRV T As, t=10cmBL T 221.60 + 2.50 i 224 224.10
$i I T e - 241.70 + 2.50 nf 240 244.20
HHRL T RC—40 92.70 + 1.00 i 94 93.70
HORL T w 112.80 + 1.10 nf 114 113.90
A T wE 1+ 241.70 + 2.50 m 240 244.20
et T 241.70 + 2.50 m 240 244.20
FRERAL B As 8.86 + 0.10 m 9.0 8.96
FRORAL S #r As 8.86 + 0.10 m 9.0 8.96
BT A As, t=3cm 221.60 + 2.50 it 224 224.10
AT RC-40, t=16cm 221.60 + 2.50 nf 224 224.10
R4S SHAE ki U] BT R SHEMUIBTE R
15 Ve - A5 T m 0.8 0.75
0.023 t/m X 0.04 m X 8148 m = 0.75
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HPE ¢ 100 EEL= 402.90 m BRKH= 090 m BEARAE T - SRS = 4 BRI A 8
REHEEEL= 3 KRR L= 16
% 0w | B %k o+ % HPE ¢ 1004i3% T EFE wir | % & 1
ElE T T As, t=10cmll T 402.90 X 2.00 m 805.8
HEERREVEEL | As, t=10cmBL T 402.90 X 0.55 nt 221.6
AL e+ 402.90 X 0.60 m 241.7
HORL T RC-40 402.90 X 0.23 i 92.7
B RL T w 402.90 X  0.28 i 112.8
A wHE + 402.90 X 0.60 m 241.7
M T 241.70 m 241.7
PRI As 221.60 X  0.04 m 8.86
FRBLAL ) 2 As m 8.86
T F4EAs, t=3cm 402.90 X  0.55 m 221.6
FEAR T RC-40, t=16cm 402.90 X 0.55 nf 221.6
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HPE ¢ 10047 3% T 3EatiA ERMH)= 090 m
HPE ¢ 100 AR (W) RIRE(C)
EoME (D2) 0.125 PEHIE (W) 0.55 + = 0.55 m
HE I (W) HXR(HL) EHME Wy
fRH = 0.55 X ( 0.86 + 0.125 + 0.1)=  0.60
Hr IR (W) B R (HL) WIRER)
MR = 0.55 X ( 087 - 0.3 - 0.16)= 0.23
Hr AR (W) WHLEE (h1) A
WO R = 0.55 X 0525 - 00123 = 028 m
A oA REL TR A
AR E = 0.60 - = = 0.60 m
B R (H) 13, Sl R HI BR v
D2 : & I — B F (nm)
X5 fil EIME R D2:| 8 EIME 125
1 [PP¢13 21.5 0.55 W:| 8 I HI g 0.55
2 |PP ¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 |DGX¢ 75 93.0 0.55 . 6
8 |HPE ¢ 100 125.0 0.55 © W |
R .
9 |DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 = N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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e T As, t=10cmPL T 4.50 X 2.00 m 9.0
SREREEL T As, t=10cmbPL T 0.55 X  4.50 i 2.5
AT WE 1 0.56 X  4.50 m 2.5
HHRL T RC-40 450 X 0.23 i 1.0
HORLT W 0.25 X  4.50 i 1.1
A WE+ 0.56 X  4.50 m 2.5
HeHh T 2.50 i 2.5
PRI As 2.50 X 0.04 m 0.10
FRURAL S # As m 0.10
FE L F/EAs, t=3cm 450 X 0.55 nt 2.5
AT RC-40, t=16cm 450 X 0.55 i 2.5
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PP ¢ 5047 5% Kt HERE)= 090 m
PP ¢ 50 PEHIE (W) RIRE(C)
Eat(D2) 0.060 FEHIE (W) 0.55 + 0.55 m
B (W) R (H1) IR i
fRH = 0.55 X( 0.86 + 0.060 + 0.1)= 056
HE IR (W) B R (HL) WREN) B
MR = 0.55 x( 087 - 0.30 - 0.16)= 0.23
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X5 fil EIME e D2:| 6 EIME 60
1 [PP¢13 21.5 0.55 W:| 6 I HIE 0.55
2 |[PP¢ 20 27.0 0.55
3 _[PP¢ 25 34.0 0.55
4 |PP¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 |DGX¢ 75 93.0 0.55
8 |DK¢ 100 125.0 0.55
9 [DGX ¢ 125 143.0 0.55 K
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 T
12 |DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 i B
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% B | B %+ % BT EMEHN IR +THEHE | % /| o=
HPE HPE PP
¢ 100 $ 100 ¢ 50
EliEmr T As, t=15cmLL 187.00 + 8.00 7.00 m 200 202.00
SRRV T As, t=10cmBL T 51.40 + 2.20 1.90 i 56 55.50
A T W+ 56.10 + 3.70 2.00 nf 60 61.80
HUHRL T RC—40 21.50 + 2.20 0.80 ; 25 24.50
HORL T w 26.20 + 1.10 0.90 7 28 28.20
A LT wE 1+ 56.10 + 3.70 2.00 ) 60 61.80
T 56.10 + 3.70 2.00 7 60 61.80
FRERAL B As 2.06 + 0.09 0.08 ) 2.2 2.23
VUL ¢ As 2.06 + 0.09 0.08 7 2.2 2.23
BT A As, t=3cm 51.40 + 2.20 1.90 it 56 55.50
AT RC-40, t=16cm 51.40 + 2.20 1.90 nf 56 55.50
EERA R ERET | WAL H=2.0mPL R +  4.00 m 4 4.00
ReES HEMRUIBTRS HEMRVIBER
5 VRS- 1Ly T i 0.2 0.19
0.023 t/m 0.04 m x 202.0 m 0.19
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HPE ¢ 100 JEEL= 9350 m BRXH= 090 m BEARAE T - SRS = 4 BRI A 8
REHEEEL= 3 KRR L= 16
% 0w | B %k o+ % HPE ¢ 1004i3% T EFE wir | % & 1
ElE T T As, t=10cmll T 93.50 X  2.00 m 187.0
HEERREVEEL | As, t=10cmBL T 93.50 X  0.55 nt 51.4
AL e+ 93.50 X  0.60 m 56.1
HHRL T RC-40 93.50 X  0.23 i 21.5
B RL T w 93.50 X  0.28 i 26.2
A wHE + 93.50 X  0.60 m 56.1
M T 56.10 m 56.1
PRI As 51.40 X  0.04 m 2.06
FRBLAL ) 2 As m 2.06
T F4EAs, t=3cm 93.50 X  0.55 m 51.4
FEAR T RC-40, t=16cm 93.50 X  0.55 nf 51.4
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HPE ¢ 10047 3% T 3EatiA ERMH)= 090 m
HPE ¢ 100 AR (W) RIRE(C)
EoME (D2) 0.125 PEHIE (W) 0.55 + = 0.55 m
SR (W) R (H1) IR i
fRH = 0.55 X ( 0.86 + 0.125 + 0.1)=  0.60
Hr IR (W) B R (HL) WIRER)
MR = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23
Hr AR (W) WHLEE (h1) A
WO R = 055 X 0525 - 0.0123 = 028 m
A oA REL TR
AR E = 0.60 - = = 0.60 m
X R (H1) 13, SR BR v
D2 : & I — B F (nm)
X5 fil EIME e D2:| 8 EIME 125
1 [PP¢13 21.5 0.55 W:| 8 I HIE 0.55
2 |PP ¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 |DGX¢ 75 93.0 0.55 . 6
8 |HPE ¢ 100 125.0 0.55 © W |
R .
9 |DGX¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60
12 |DGX ¢ 250 271.6 0.60 T
13 [DGX ¢ 300 322.8 0.70 <
14 [DGX ¢ 350 374.0 0.70 = N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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HPE ¢ 100 JEEL= 400 m BRH= 150 m BRI - SR = 4 B Sy 8
Rt = 3 PR = 16
4 m | ® %+ HPE ¢ 100/ T EFHE wer| W & 1
e T As, t=10cmPL T 4.00 X 2.00 m 8.0
SREREEL T As, t=10cmbPL T 0.55 X 4.00 i 2.2
AT WE 1 0.93 X  4.00 m 3.7
HHRL T RC-40 4.00 X  0.56 i 2.2
HORLT W 0.28 X  4.00 i 1.1
A WE+ 0.93 X  4.00 m 3.7
HeHh T 3.70 i 3.7
PRI As 2.20 X 0.04 m 0.09
FRURAL S # As m 0.09
FE L F/EAs, t=3cm 4.00 X  0.55 nt 2.2
AT RC-40, t=16cm 4.00 X  0.55 ot 2.2
e E R T R H=2.0mLL R 4.00 m 4.0
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HPE ¢ 10047 3% T 3EatiA HR(MH)= 150 m
HPE ¢ 100 AR (W) RIRE(C)
EoME (D2) 0.125 PEHIE (W) 0.55 + = 0.55 m
SR (W) R (H1) IR i
fRH = 0.55 X ( 1.46 + 0.125 + 0.1)= 0093
Hr IR (W) B R (HL) WIRER)
MR = 0.55 X ( 147 - 030 - 0.16)=  0.56
Hr AR (W) WHLRE (h1) A
WO R = 0.55 X 0.53 - 0.0123 = 028 m
A oA REL TR
AR R = 0.93 - = = 093 m
X R (H1) 13, SR BR v
D2 : & I — B F (nm)
X5 fil EIME e D2:| 8 EIME 125
1 [PP¢13 21.5 0.55 W:| 8 I HIE 0.55
2 |PP ¢ 20 27.0 0.55
3 [PP¢25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP ¢ 50 60.0 0.55
7 |DGX¢ 75 93.0 0.55 o
8 |HPE ¢ 100 125.0 0.55
9 |DGX¢ 125 143.0 0.55 K
10 [DGX ¢ 150 169.0 0.55
11 [DGX ¢ 200 220.0 0.60 T
12 [DGX ¢ 250 271.6 0.60
13 [DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 - Nz
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10 i B
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L3¢

PP ¢ 50 SEEL= 350 m BRH= 090 m BRI - SR = 4 BHMEIX Sy 6
Rt = 3 PR = 16
4 m | ® %+ PP ¢ 50ffis% T EFE wer| W & 1
e T As, t=10cmPL T 3.,50 X 2.00 m 7.0
EREIREOEEL T.|  As, t=10cmPL T 0.55 X  3.50 i 1.9
AT WE 1 0.56 X  3.50 m 2.0
HHRL T RC-40 3.50 X 0.23 i 0.8
HORLT W 0.25 X  3.50 i 0.9
A T WE+ 0.56 X  3.50 m 2.0
HeHh T 2.00 i 2.0
PRI As 1.90 X  0.04 m 0.08
FRURAL S # As m 0.08
FE L F/EAs, t=3cm 3.50 X 0.55 nt 1.9
AT RC-40, t=16cm 3.50 X 0.55 i 1.9




+ T K EBE £
PP ¢ 5047 5% Kt HERE)= 090 m
PP ¢ 50 PEHIE (W) RIRE(C)
Eat(D2) 0.060 FEHIE (W) 0.55 + 0.55 m
B (W) R (H1) IR i
fRH = 0.55 X ( 0.86 + 0.060 + 0.1)= 0.56
Hr IR (W) B R (HL) WIRER)
MR = 0.55 X ( 0.87 - 0.3 - 0.16)=  0.23
Hr AR (W) WHLRE (h1) A
WO R = 0.55 X 0460 - 0.0028 = 0.25 m
A A REL TR
AR R = 0.56 - = = 056 m
B R (H) 13, SR BR v
D2 : & I — B F (nm)
X5 fil EIME e D2:| 6 EIME 60
1 [PP¢13 21.5 0.55 W:| 6 S HIE 0.55
2 |PP ¢ 20 27.0 0.55
3 _[PP¢ 25 34.0 0.55
4 |PP ¢ 30 42.0 0.55
5 [PP¢40 48.0 0.55
6 |PP¢50 60.0 0.55
7 |[DGX ¢ 75 93.0 0.55
8 |DK¢ 100 118.0 0.55
SR
9 [DGX ¢ 125 143.0 0.55
10 [DGX ¢ 150 169.0 0.55
11 |DGX ¢ 200 220.0 0.60 -
12 [DGX ¢ 250 271.6 0.60
13 |DGX ¢ 300 322.8 0.70 _ <
14 [DGX ¢ 350 374.0 0.70 - N
15 |DGX ¢ 400 425.6 1.05 0.1
16 |DNS ¢ 450 476.8 1.10
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